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No. of Questions : 180 

~~~:180 

Time : 2 Hours] [ Full Marks: 450 

[ rprflf; : 450 

Instructions: 

~: 
This paper consists of Objective Type Questions and is divided into two 
Sections (1 & II) as under: 

<rn" ~-"Q?r 61§~Cf)(>4l)i~ ~ lR ~ t ~ err ~ (1 & II), ~ ~ t 1l 
~t: 

(a) Section - I : Consists of 120 Objective Type Questions on General 
Awareness, Mental Ability, Comprehension and Subject Awareness in 
some major subjects. 

6fU6 - I : 11120 61§~Cf)c41~ ~ '{W"'I~ W"l. I""fI"1fftCf) ~\Jl~<11 ~ egg ~ ~ 
~W"llR~~1 

(b) Section - II : Consists of 30 Objective Type Questions on (1) English 
Language and (II) Hindi Language. 

6fU6 - II: 1l 30 61§~Cf)c4l~ ~ (1) ~ '+Jll'iIT 3tR (II) ~ '+Jll'iIT lR ~ ~ I 

The candidate is required to attempt as many questions as he/she can of 
Section-I, and Questions on anyone of the two Language Papers (1) English or 
(II» Hindi in Section-II. 

~~ ~ ~ t fcp 6fU6-I ~ 6fU6-II ~ (1) ~ lIT (II) ~ '+Jll'iIT W"l ~ 
~~Cf>l~CfRI 

Note: (i) Each question carries 3 (three) marks. One mark will be deducted for each 
incorrect answer. Zero mark.will be awarded for each unattempted question. 

~ ~ 3 caR) 3TcP em t I ~ 7f(ffl" '6ffV' cff ~ VCff 3fq; 'l6TCT \ildJm I 
~ 31j't1R<1 ~ em !'t1l{1jCf) ~ m.rr I 

P.T.O. 
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(ii) If more than one alternative answers seem to be approximate to the correct 
answer, choose the closest one. 
~ ~ ~ Ct>~Ct> \3W x=ffiT \3W cf; ~ ~ if. cfr PiCt>c(l &1 x=ffiT ~ ¥ I 

(iii) Each question is followed by four alternative answers (I), (2), (3) and (4). 
One of these answers is correct. Select the correct and record it against the 
relevant question in the ANSWER-SHEET by darkening the circle with Ball 
Point Pen as per guidelines. 
~ ~ cf; 'ffTV ~Ct>~Ct> \3W ~ 7f4 ~ ~ (I), (2), (3) Cf~ (4) ~ xl 
~ 7fm t I ~ xl ct-c~ ~ \3ffi m x=ffiT t I x=ffiT \3W ~ Cf~ ~ ~ 
em \3W-~ ~ (l(fls:6l"£:fi ~ cf; ~ Pl4~llj'<iI'< ~ ern (~) em 5Il"C1 

~ q., m-'<T qm;rr ~ ~ I 

SECTION -I 
~-I 

1. How many schedules are there in the Indian Constitution? 
1f1m cf; ~ ~ ~ 3ljfd~gfi ~ ? 
(1) 8 (2) 12 (3) 16 (4) 18 

2. Which article of the constitution provides special status to Jammu & Kashmir? 
~ ~ ~ qtf;:r-~ trm ~ Cf~ Ct>1~4),< em 3lC"fTT ~ cnT ~ ~ t ? 
(1) 356 (2) 376 (3) 370 (4) 324 

3. An ordinance is issued when: 
(1) Parliament is in recess (2) There is emergency 
(3) Prime Minister is unable to function (4) When President is abroad 
~ \ifRT fcnm \iiRlT t ~ : 
(1) x=ffrG x1?tlqxil'1 ~ m 
(3) ~ ~ ~ ~ ~ 3TWfef if 

(2) ~ 3l141(lCt>1C"l ~ ~ m 
(4) ~ '<1~4~ ~ .,-ir if 

4. Who was the President of 'Constituent Assembly' in India? 
(1) B. R. Ambedkar (2) Dr. Rajendra Prasad 
(3) Sardar Vallabh Bhai Patel (4) Pandit J. L. Nehru 
1ffi(l ~ ~ "fI'+IT cnT 3l'CZral qtf;:r ~ ? 
(1) ~o 3lRo 3l~~Ct>'< 
(3)~~~~ 

(2) mo ~ >rnR 

(4) ti~ ~o ~o ~ 

5. Which of the following is a new conc~pt in the parliamentary system of India 
generally not found in other countries? 
(1) Speech by the President (2) Question hour 
(3) Parliamentary Committees (4) Zero hour 

( 2 ) 
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~ ctr '<"i'<iG~\q ~ -ij ~+=1~Rsld -ij xl ~-m 'l!IT mfclmrr ~ \Ill 3Rl ~ -ij 
'<i lli I "Xl d \q I: ;nff lWIT \iITdT ~ ? 
(1) '<1~qRl cpr ~ 

(3) '<"i'<iG"I\q :H~ffi\qi 

(2) ~ qm;f 

(4) ~ qm;f 

6. When does the President summon the joint session of the parliament? 
(1) when there is impasse in finance bill 
(2) when there is impasse in ordinary bill 
(3) for declaration of emergency 
(4) for debate on the general budget 
'<I~qffi "fffiG cf; ~ ~ cnT Cf>6r ~ ~ ? 
(1) \jfij fcffl ~ -ij ~ m 
(2) \jfij '<illil"Xl ~ -ij ~ m 
(3) 3lIqld4>l61 ctr ~ -gg 
(4) '<i lli I "Xl 6[\jfC tR ~ -gg 

7. The Directive Principles of State Policy in Indian Constitution has been taken 
from the Constitution of : 

(1) Ireland (2) Sweden (3) Britain (4) France 

~ ~ -ij ~ cf; ~ ~(hl4> -erffi cnT ~ ~ cf; ~ xl fW:rr TI<IT ~ ? 

(1) 3l1\q,<~o\S (2) ~ (3) ~ (4) ~ 

8. Hegemony refers to : 
(1) prevalence of a particular ideology in society 
(2) ability of a political party to be elected in successive elections 
(3) the appearance of the same group in power regardless of election 
(4) the success of capitalism in surviving over socialism 
~ +=1 ~ Rsl d -ij ~ WjfCf Cfm ~ ? 
(1) ~ fc'lill ,<q I G cpr "{i'lll'\jf -ij ~ ~ ~ 

(2) '<1\Jj~ffi4>"Gc'f ctr W1rn: ~ -ij ~ ~ ctr lffI1ffi" 

(3) ~ cf; qRowt1 cf; 6I1Q'1'\G ~ ~ cpr x=rffi -ij ~ ~ cf; ~ 
(4) '<ilil\JjqIG tR ~\J1~qIG cf; ~ -ij ~ ~ ctr '<iY>61dl 

9. Presiding Officer of Rajya Sabha is a member of which of these houses? 

(1) Lok Sabha (2) Rajya Sabha 

(3) Vidhan Sabha (4) Member of none of the above 

( 3 ) P.T.O. 
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~ x:r+IT cpr 31'CZfa1 PI k1 R*t RsI <1 ~ ~ Rh f1 q) I ~ mm ~ ? 

(1) c;TIcp x:r+IT (2) ~ x:r+IT 

(3) fcrmo:r x:r+IT ~4) \i541;ctct Tt ~ ~ cpr -mT 

10. Consider the following issues, and point out from the code which of these have 
been included for consideration on "right against exploitation" ? 
1. human trafficking and forced labour 
2. end of untouchability 
3. protection of minority interest 
4. ban on child labour in factories and mining 
Code: 
(1) all the four (2) 2,3 and 4 (3) 2 and 3 (4) 1 and 4 
Plk1R*tRsl<1 lKGT ~ fcr=trrx ~ :§R ~ ~ cCr f161~<11 ~ ~ ~ fcp fcp.:f ~ 
em .~ cf;-~ ~. -gg ffl"'tfR cf; ~ ~ lTm ~ ? 
1. ~ ~CAQ~q,,< "d"~ ~ ~ 
2. 31\{~}l~<11 cpr 3kr 
3. 31 C"4 '<4 '&q q) crt cf; f%m cCr X'!ffi 

4. ~q~~~J)l11~~ 
'lfIC : 
(1 ) \3 q 1Cffi 'tfRT (2) 2, 3"d"~ 4 (3) 2~ 3 (4) 1"d"~ 4 

11. Consider the following: 
1. Public Account Committee 
2. Comptroller and Auditor General of India 
Which of these are the Committees of Parliament? 
(1) only 1 (2) only 2 (3) both 1 and 2 (4) neither 1 nor 2 
Plk1R*tRsl<1 ~ urR ~ : 
1. c;TIcp mm ~ 
2. 11ffi1 cf; Ji61 Jl ~ I ~a=rq; 
~ ~ '<4f1cfl~ ~ cPR ~ ? 
(1) ~ 1 (2) cf;crc;r 2 (3) 1 q 2 GFIT (4) ~ cIT 13fR ~2 

12. Consider the following facts about State Reorganization Commission: 
1. It submitted its report in 1953 
2. It recommended creation of 14 States and 6 Union Territories 
3. The basis of reorganization was boundaries of different languages 
Of these choose the correct answer from the code given below: 
Code: 
(1) all the three above are true 
(3) only 3 is true 

(4 ) 

(2) only 2 and 3 are true 
(4) none of the above is true 
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~ ~'1~rd'1 ~ ~ ~ ~ Plk1fC;t~Cl q;~ tR ~ ~ : 

1. ~ ~ RGli 1953 ~ ~ ~ 
2. ~ 14 ~ q 6~ ~ a)?IT ~ x~ ~ {iX'{j~ ~ 

3. ~ q a)?IT ~ ~'1~rd'1 Cf)f ~ 3Tlt1R ~ ~ ~ ~ Cf)f af.?T ~ 
~~"fffiT~~~~~~: 
'lfiC : a 

(1 ) \3 q 4cm -efAT "fffiT ~ 
(3) ~ 3"fffiT ~ 

(2) \3q4cm 2 q 3 "fffiT ~ 
(4) \3 q 4cm cfi"'1T "fffiT ;:fflT ~ 

13. The years during which emergency in India was imposed, were: 
(1) 1974,1975, 1976 and 1977 (2) 1976 and 1977 
(3) 1975, 1976 and 1977 (4) 1977, 1978 and 1979 
Cf6 CI1f ~ 1lffil ~ 3lIQIClCfJIC'l ~ ~ Tfm ~, ~ : 

(1) 1974, 1975, 1976"C1"~ 1977 (2) 1976"C1"~ 1977 
(3) 1975, 1976 ~ 1977 (4) 1977, 1978"C1"~ 1979 

14. Which one of the following is not well matched? 
(1) Garibi Hatao Indira Gandhi 
(2) Railway strike George Fernandi's 
(3) Total Revolution Jai Prakash Narayan 
(4) Green Revolution Morarjee Desai 
PI k1 fC;t ~ Cl ~ ~ cpt.; ~ '<j~ fC;t Cl ;nff ~ ? 
(1) ~ 6CT3IT 
(2) ~ 6~ClIC'l 
(3)~~ 
(4) 6fur ~ 

~~ 
~ 45'1H~'J.1 
\1I<:f ~ '11'<1£1 0 1 
~'>I '< I '< \l1~ ~ 

15. Who among the following Prime Ministers implemented the MandaI 
Commission report? 
(1) Indra Kumar Gujaral (2) V. P. Singh 
(3) P. V. Narsimha Rao (4) Rajeev Gandhi 
Plk1fC;t~Cl ~ ~ ~ ~ -.l ~ CfJ'1~~I'1 RGli Cf>T CfJI£I~pqCl ~ ? 
(1) ~ ~ ~\JNIC'l (2) efto "Cfio ffffi" 
(3) "Cfio efto '1,<ffI~1 m- (4) ~ ~ 

16. Which among the following scheme being implemented in Uttar Pradesh is not 
sponsored by the Central Government? 
(1) Taj Express Way (2) MNREGS 
(3) JNNRUM (4) National Rural Health Mission 

( 5 ) P.T.O. 
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\3"ffl ~ ~ Pi ki R;t R5I e1 'q(>f xtr ~3lT ~ cnr.=r cR '<"1'< Cf) 1'< 6RT ~ o:rtff ~ ? 
(1) (ff\if ~<'ffi~f1 -ij (2) li'1~~lft 

(3) \;f~~3lR~~ (4) ~~~~ 

17. Inflation redistributes income and wealth in favour of: 
(1) poor (2) pensioner 
(3) fixed wage earner· (4) rich 
jSilfttlr?! 3ITlJ ~ xfqfu "Cf)T fm:Rur ~ qar ~ ~ ~ : 
(1) • (2) ~ m1fr 
(3) ft.eR li\i1C&{I ~ (4) ~ 

18. Name the Chairman of the Committee formed to trace the extent and transit of 
black money in India: 
(1) M. C. Joshi (2) Nandan Neelkeni 
(3) Purushottam Kaushik (4) Kirit Parekh 
\jff ~ cf> 3l'CZJa1 "Cf)T 'Wf ~ \ill ~ ~ ~ tR "Cf)T ~ q ~ -gg ffl 
~~: 
(1) ~o ~o ~ (2) rfG;:f ;f\C"Ic$'11 

(3) ~'Qtlf~t1li Cf)~~ICf) (4) qftfk trmsr 

19. In which of the following market, the firm has a horizontal demand curve? 
(1) monopoly (2) imperfect competition 
(3) perfect competition (4) both (1) and (2) above 
Pi ki R;t R5I d ~ xl ~ 6fl\i'r"R ~ tplf "Cf)T "lil1T ern> ~ 6lm ~ ? 
(1) ~ (2) ~ 5lr?!{j~fTle11 
(3) ~ 5lr?!{j~fTle11 (4) \iQgCfd (1) Cl~ (2) GFIT 

20. Which one of the following type of unemployment did Keynes consider in his 
theory of employment? 
(1) voluntary (2) involuntary (3) frictional (4) disguised 
~ "' PikiR;tR51e1 ~ xl ~ ~ ~'I!~\i1~II:{I "Cf)T ~~~~UI 3TtA ffI<&l~ ~ fcpm ? 
(1) qRuCf) (2) 3l~RuCf) (3) ~ (4) >!m"l 

21. Which one of the following is not a quantitative method of credit control? 

(1) Change in CRR 

(2) Change in bank rate 

(3) Open market operations 

(4) Change in margin requirement on advances 

( 6 ) 
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PlkI~R5H1 1{ ~ ~ ~ ~ Pl4?1uI cpr qRl1I UII('41CJ) \3qCJ)x UI ~ ~ ? 
/J) Y3J 3JfY 3JfY -q 9~qrf'i 
(2) ~ ~ 1{ qRqd~ 

(3) ~~qft~ 

(4) n"4X ~ 3lIq~;qCJ)ClI 1{ 6iG(>'Ilq 

22. When marginal utility is falling, total utility will : 

(1) increase (2) fall 

(3) will not be affected (4) either (1) or (2) above is true 

\if6r ~ \3q~~fTIClI 1TR xtr ~ m cgc;r \3q~~fllClI : 

(1) "$ft (2) fTRlft 
(3) wnfcrn ~ m1fi (4) \3QgCRl (1) m (2) G'AT x=rnT m ~ ~ 

23. Which one of the following statement is not true for law of decreasing return? 
(1) all units of labour are homogeneous 
(2) technology of production is changing 
(3) amount of capital is fixed 
(4) labour is the variable factor 

gIXil1I~ l'IRl4>(>'I ~ cf; ~ cmT ~ ~ ~ ~ ? 
(1) W1 qft ~ ~ wWT ~ 
(2) ClCJ);:f\cC\ 1{ QRqd~ 5T w ~ 
(3) ~ qft 11T?IT ~ ~ 
(4) W1 qft 11T?IT QRqd~~(>'I ~ 

24. Which one among the following is an indirect tax? 
(1) excise duty (2) corporate tax (3) income tax 
PlkI~~Cl 1{ ~ ~ ~ ~a:r CJR ~ ? 
(1) ~ CJR (2) ~ CJR (3) 3Tl'"\Q" CJR 

25. Which one among the following will have inelastic demand ? 

(4) wealth tax 

(4) ~ CJR 

(1) Television (2) Salt (3) Chocolate (4) Sugar 
PI kI ~ ftH1 1{ ~ Fch Xi cCI lfrT ~ C'1~ tl G I x m1fi ? 
(1) ecl1Fcl\J1~ (2) ~ (3) tllCJ)~c (4) ~ 

26. A firm always earns abnormal profit when: 
(1) Me = MR (2) MR> MC (3) AR> AC 

( 7 ) 

(4) AR = Price 

P.T.O. 
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-qcp ~ ~ 3\ '<Wi I '"i1 (YfJ'+I" Cb iii ~ 4ft \i'f6I' : 

(1) '<fllil'fl C'fT1fff = ~ 31m 

(3) 3tR=m 31m > 3tR=m C'fT1fff 

(2) '<fllil'fl 31m > ,<filii 'fI C'fT1fff 

(4) 3tR=m 31m = ctrm 

27. Inclusive growth has been the main objective of which of the following Five 
Year Plan? 
(1) Vlth (2) VIIth (3) Xth (4) Xlth 
'<iii I ~:In fctcf>rn PI k1 f& ftm 1f xl fclR:r mwn- Q)T ~ c;:r~ W ~ ? 
(1) -mft mwn- (2) x=rmcft mwn- (3) ~ mwn- (4) l~l,<gcfi mwn-

28. Which one of the following is the correct statement about birth rate? It is: 
(1) 23 percent (2) 23 per hundred population 
(3) 23 per thousand population (4) 23 per thousand female population 
PI k1 f& Rs! (1 1f xl ctr=r -qcp -mft Cf)~ ~ ? ~ ~ ~ : 
(1) 23 3'lfft~l(1 (2) 23 ~ ~ \i1'1fi('«.lI 

(3) 23 ~ ~ \i1'1fi'&ll (4) 23 ~ ~ ~ \i1'1fi'&ll 

29. Which one of the following is not correctly matched? 
Definition of Economics Economist 

(1) Wealth based Adam Smith 
(2) Welfare based A. C. Pigou 
(3) Scarcity based Paul Samuelson 
(4) Study of human behaviour A. Marshall 
PI k1 f& Rs! (1 1f xl ctr=r -qcp '<j~ f& (1 o:nff ~ ? 
ar~qfr~ 

(1) ~ 3IltfTfW 
(2) Cb<"'llIOI 3IltfTfW 
(3) ~ 3IltfTfW 

30. Who developed the theory of rent? 

arft/".'(77:efJ 

~~~ 
~o "'<fI"o ~ 
tffi;r '<~ 9\('\(i '1 

~o~ 

(1) k. C. Pigou (2) David Ricardo (3) J. S. Mill (4) Amartya Sen 
PI k1 f& Rs! (1 1f ~ C'flWf cfi R'-t <& 1'fI cnT Fc1 Cb R'-t (1 fcl>m ? 
(1) ~o"'<fl"o ~ (2) ~ RCbI;s1 (3) ~o ~o flic;r (4) ~ ~ 

31. Abdul Rahim was awarded the title of "Khankhana" for crushing the revolt of? 

(1) Malwa (2) Gujarat (3) Kandhar (4) Kabul 

~ ~ cnT "~I'1~I'1I" ctfr ~ cmff cfi ~ cnT cgilC1~ ~ ~ ? 
(1) ~ (2) 1\i1'<1(1 (3) Cf>PCiR (4) cnT¥f 

( 8 ) 
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32. Which country's agency (company) first started trade with India? 
(1) Portugal (2) France (3) Britain (4) Holland 
1=[ffif ~ ~ fclR:f -ffi ctr ~ -;f ~ ~ czrrcrrx 3fR11 ~ ? 
(1) 9Ict~lI<>1 (2) ~ (3) fil-br (4) ~ 

33. Who invited Babur to attack India ? 
(1) Daulat Khan Lodhi (2) Alam Khan Lodhi 
(3) Rana Sanga (4) All the three above 
6I16R em 1=[ffif tR 3l1WlfOT ~ ~ fclR:A PI s:j?l 01 ~ ? 
(1) ~ mo=r ~ (2) 3lTW1 mo=r ~ 
(3) xrcrrr x:rt1TT (4) \i q 1@ x=MT 

34. Who among the following is called The Freedom Giver to Indian Press? 
(1) Lord Ripon (2) Charles Metcalf 
(3) William Bentinck (4) Lord Amhurst 
PI J11 ~ ftld 1l ~ ~ ~ ~ 'CPT jfck1 G 1('11 q)gf \ifmT ~ ? 
(1) ~ m (2) ~ ~cCf>l4> 
(3) Rl~~Pi ~ (4) ~ ~S16=& 

35. In which of the following movement, 'Vande Matram' was adopted as national 
song? 
(1) Swadeshi .(2) Civil disobedience 
(3) Khilafat (4) Quit India 
PlJ11~R5I('I 1l ~ fclR:f 3lic;'I<>1"1 1l cR l1fCR1l em ~ 7fuf ~ ~ 1l ~ Tfm ? 
(1) ~ (2) ftRl"llJ 3lCfW 
(3) R51<>1I4>('I (4) 1=[ffif ~ 

36. When did Cabinet Mission arrive in India? 
1=[ffif 1l ~ ~ -9 c ~ q)'ij 3lT<IT ? 
(1) 1946 (2) 1942 (3) 1944 

37. Who among the following ended slave trade in India ? 

(4) 1947 

(1) Lord Cornwallis (2) Lord Allenbourough 

(3) Lord William Bentinck (4) Sir John Shore 

PI J11 ~ R5I ('I 1l ~ fclR:A 1=[ffif 1l GTft' wrrr em ~ ~ ? 

(1) ~ Cf>14ql~ft (2) ~ ~<>1"1611~'1 

(3) ~ Rl~lJS1 ~ (4) ~ \JiFr mx 
( 9 ) P.T.O. 
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38. Which ruler of Delhi started the 'Market Control System' ? 
(1) Sher Shah Suri (2) Mohd. Bin Tughlaq 
(3) Razia Begum (4) Alauddin Khilji 
~ ~ fclR:r ~ ~ '~ Pt4?1 0 1 ~ Cf>T ~ fcnm ? 
(1) m m5 ~ (2) 4116H1G ~ g~IC'1Cf) 
(3) ~ ~ (4) 3lC'11\3q:G~'i RslC'1\J1"1 

39. City of Agra was founded by : 
(1) Firoz Tughlaq 
(3) Khijra Khan 
3TTlRT ~ ctr ~ ~ ~ ? 
(1) ~ g~IC'1Cf) 

(3) ~~ 

(2) Bahlol Lodhi 
(4) Sikandar Lodhi 

(2) 616 (>11 C'1 "C'1ltfr 
(4) fft Cf) ~ '< "C'1ltfr 

40. Main task of Loyal Commission was reforms in : 

(1) Judicial System (2) Famine Management 
(3) Law and Order (4) Revenue Settlement 

"C'1'm"C'1" Cf) 41 ~ I 'i Cf>T ~ \3 q: ~ ~'4 ~ : 

(1) ~ ~ 1l WW (2) ~a:r Cf>T m 
(3) ~ -qct ~ 1l WW (4) ~ C2lCR~ 

41. Who was the first Viceroy of India? 
(1) Lord Canning (2) Lord Napier (3) Lord Mayo (4) Lord Lawrence 
11m!" Cf>T ~~ ql~'<1'<I'4 ~ ~ ? 
(1) ~~ (2) ~~ (3) ~~ (4) ~~ 

42. Who among the following killed General Dyer in London ? 
(1) Udham Singh (2) Harnam Singh 
(3) c. S. Azad (4) Yashpal 
~ mm em-~ 1l ~ lfRT ? 
(1) ~~ (2) ~~ 
(3) "'<fro ~o 3f[\jf'fG (4) '4~lqlC'1 

43. Arrange the following events related to Indian freedom movement in 
chronological order: 
1. Jalianwalabagh 2. Rowlatt Act 
3. Champaran Satyagrah 4. Death of Bal Gangadhar Tilak 
Code: 
(1) 1,2,3,4 (2) 2,3, 1,4 (3) 4,3,2, 1 (4) 3,2, 1,4 

( 10 ) 
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PtkJ~RslCl ~3lT cpl, \ill ~ '{OGci?lClI ~ ~ ~ t, ~ iHfiljwJi -q ~ : 
1. \J1~lIiqICIII6l1~1 2. ~-qq:c 

3. il s:q I 'F1 fl fl11!l6 4. ~ TfrrrtR fffi;rq;- ctr ~ 
CfR': : 

C\ 

(1) 1,2,3,4 (2) 2,3, 1,4 (3) 4,3,2, 1 (4) 3,2, 1,4 

44. The pillar on which the peace message of Samrat Ashok and details of military 
victories of Samudragupta are recorded is located in : 

(1) Sarnath (2) Prayag (3) Patna (4) Lucknow 

erg ~ ftR1 tR x=rmc 3lWcn em m -m q ,{1~S< jlC1 ctr ~ ~ ctr 7"Ilm 

~~t~~: 

(1) ~ -q (2) WfTlT -q (3) tre'lT -q (4) CIIW'iI3)-q 

45. Which among the following is not correctly matched? 
(1) Hector Munro Battle of Buxar 
(2) Lord Hastings Anglo-Nepal War 
(3) Lord Wellesley Fourth Anglo-Mysore War 
(4) Lord Cornwallis Third Anglo-Maratha War 

PtkJ~RslCl -q ~ ~ ~ '<j~~Cl ~ ~ ? 
(1) ~ lffiT 
(2) ~ ~ffC~fl 

(3) ~ ~c'l~~ 
(4) ~ cf)l4ql~fl 

~ctr~ 
3Tfrc;r-~ ~ 
~~ 3Tfrc;r-~ ~ 
crcfrn 3Tfrc;r-1=RTOT ~ 

46. Which among the following is not an insect? 
(1) Bedbug (2) Housefly (3) Mosquito 
PtkJ~RslCl -q ~ ~ ~ cere ~ ~ ? 
(1) WeJiCII (2) ~ (3) ~ 

47. Rh factor is associated with: 
(1) rat (2) human being (3) monkey 
Rh~em~~: 
(1) ~ ~ (2) lJT'iCT m ~ (3) ffi ~ 

48. Goitre is caused by the deficiency of: 
(1) Sodium (2) Iodine (3) Vitamins 
~ I CII ~ I 0\5 ctr ~ Fchfl c$) Cf)1fr ~ 5lcfr ~ ? 
(1) '<i~~lIJi (2) 311~~~'i (3) ~el~'i 

( 11 ) 

(4) Spider 

(4) ~ 

(4) fungi 

(4) ~~ 

(4) Protiens 

(4) m-fr.; 

P.T.O. 
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49. Saliva help in digestion of : 
(1) fats (2) starch (3) amino acids (4) proteins 
(:VIR ~ -qrc;r;; ~ '{16111t11 ~ t ? 
(1) crm (2) ~ (~) (3) ~ 3FC1 (4) ~ 

50. Which among the following is attacked by Leukemia? 
(1) blood vessels (2) brain (3) bone marrow (4) liver 
~~~1I1 (~ ~) IDXT ctm ~ mm t ? 
(1) ~ Cf)~~ICf)I~ (2) SifffitXP (3) ~ (4) ~ 

51. Influenza is caused by : 
(1) bacteria (2) virus 
(3) fungi (4) both fungi and bacteria 
~ rtf&j\q ~ I cpr 'Cf>RUT t : 
(1) ~Cft'lRlIl (2) fcttnuJ 
(3) ~ (4) ~ q ~crt'lRlIl ~ 

52. Which component colours of light are absorbed by Chlorophyll ? 
(1) blue and red (2) green and red 
(3) yellow and green (4) only green 
Cf(i1~,<'jfCp(Y1 IDXT ~ ~ "CP'A-xl ~ 3fCnTCf 31CJ~~ffltI fcn4 \rfRf t ? 
(1 ) ~ q "ffi"(Y1" (2) 5XT q "ffi"(Y1" 

(3) ~ q 5XT (4) ~ 5XT 

53. SRI system of cultivation is used for: 

(1) Rice (2) Mecca (3) Cotton (4) Potato 

~~~~>rgcrtI"~~? 
(1) ":fI"lCfR (2) 11qCf)T (3) Cf)qffi (4) 3lR'i 

54. Largest producer of Soyabean in India is : 
(1) Madhya Pradesh(2) Gujarat (3) Kerala (4) Karnataka 
1fffif ~ '<11111~H cpr ~ ~ \3(GIGCf) ~ t : 
(1) llUr m (2) :!\i1'<ltI (3) ~ 

55. Which among the following plant is not ecologically friendly? 
(1) Babool (2) Eucalyptus (3) Neem (4) Peepal 
PlkI~ftsH1 ~ xl "CP'A ~ ~ ~ ~ 'if1ff t ? 
(1) ~ (2) ~~R;JceXi (3) ofr:r (4) -QNc;r 

( 12 ) 
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56. Which one of the following countries in 2011 has decided to withdraw from 
Kyoto Climate Control Agreement? 
(1) Canada (2) China (3) France (4) U. S. A. 
2011 ~ ~ \J1C1ql~ xiJOJ:#l21 ~ cPf;:r ~ ~ ~ 3ltR ~ 3R¥f ~ cpr ~ 
fcl>m ~ ? 
(1) ~ (2) ~ (3) m-Ri" (4) <&0 ~o ~o 

57. Which among the following is not a green house gas? 
(1) chlorofluorocarbons (2) carbon-di-oxide 
(3) ozone (4) chlorine 
Pl k1 ~ Rsm ~ ~ cPf;:r ~ mffi lJ5 Tffi (nR mm=r Tffi) ~ ~ ? 
(1) CfCi11"!14'611"!lCflI4'1 (2) CflI4'1'5I~31ICfflI~'5 
(3) ~ (4) Cf6110fH 

58. Which one of the following is not an inner planet? 
(1) Mercury (2) Mars (3) Earth (4) Jupiter 
Plk1~RsId ~ ~ cPf;:r ~ ~ m5 ~ ~ ? 
(1) ~ (2) ~ (3) ~~ 

5a. How much covered area of earth surface is in the form of deserts? 
(1) one tenth (2) one twentieth (3) one third (4) one half 
~~ ~ ~ cpr ~ 1Wf ~iTl'R1I'1 ~ ~ ~ ~? 
(1) 10 SlRI~ld (2) 05 SlRI~1d (3) ~ ~ (4) 3l1'm 

60. Who amongst the following have not been associated with green revolution in 
India? 
(1) M. S. Swaminathan (2) Norman Borlaug 
(3) M. Subramanyam (4) Lal Bahadur Shastri 
Plk1~ RsI d ~ ~ cPf;:r ~ 'Bffif ~ st mffi wiRI" ~ ~ ~ ~ ? 
(1) ~o ~o x:qI~'1I~ (2) ~ 611 '< C'W I 

(3) ~o '<j¢lIJOJ0<:jJOJ (4) c;nc;r ~ ~ 

61. Periar Hydroelectric project is located in : 
(1) Tamil Nadu (2) 
(3) Kerala (4) 

Andhra Pradesh 
Pudducherry 

~\Jffi~~~~~? 
(1) dl~C1'1I'§ 

(3) m 
(2) 3Wa ~ 

(4) ~ 

( 13 ) P.T.O. 



12U1104/28(Set-l) 

62. Span of one degree latitude is: 

(1) 321 km (2) 211 km (3) 111 km (4) 91 km 

~ 3larm em fcrmR t : 
(1) 321 M (2) 211 M (3) 111 M (4) 91 M 

63. Which of the following river is called 'Sorrow of Bengal' ? 
(1) The Kosi (2) The Damodar (3) The Gandak (4) The Ghaghra 
Pt&1i~~d ~ xl ~ ~ em '~ em ~' q;m \TfTffi t ? 
(1) ~ (2) GIJ1~G'I( (3) ~ (4) t:ITCRT 

64. River Luni flows in: 
(1) Rajasthan (2) Punjab (3) Bihar (4) Orissa 
~~~t: 
(1) ~-ewr ~ (2) ~ ~ (3) ~~ (4) ~~ 

65. v. Koeppan recognised how many major climate groups ? 

(1) three (2) four (3) five (4) six 

cfio Fchq~lLJ"1 -.T ~ ~ \J1C'1C1I~ ~ em ~ ~ ? 

(1) (fR (2) ~ (3) ~ (4) u: 

66. Which one of the following is not included in hydrological cycle? 

(1) Evaporation (2) Precipitation (3) Hydration (4) Condensation 
Pt&1i~~d ~ xl ctr.=r ~ 61~,*~C'11~Cf)C'1 'qW ~ f1fAi~d o:rtff t ? 

(1) ClI&j'>ICf)'I(01 (2) ~ (3) \J1C'1q~\J1"1 (4) ~ 

67. Which one of the following is not a major determinant of the climate of a 
region? 
(1) latitude (2) height above sea level 
(3) distance from sea (4) longitude 
Pt&1i ~ ~d ~ xl ctr.=r ~ Cf)RCp fclRfr af;r ctr \J1 C'1 CI I ~ em ~ ~ xl ~ rrdf 
CffifT t ? 
(1) 3larm (2) ~ ~ xl ~ 
(3) ~ ('fC xl ~ (4) ~~II'i1'1( 

68. The total area of India is about: 

(1) 25 Lakh Sq. Km. 

(3) 320 Lakh Sq. Km. 

( 14 ) 

(2) 33 Lakh Sq. Km. 

(4) 200 Lakh Sq. Km. 
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~1'ltt1Cl~ cpr CWf ~ ~ "4 xl ~ 3ll'Hqlfl ~ : 

(1) 25 c;rmr Cf1f fcp4T (2) 33 c;rmr Cf1f fcp4T 

(3) 320 c;rmr Cf1f fcp4T (4) 200 c;rmr Cf1f fcp4T 

69. Arrange the following states in the descending order of urban population as 
per 2011 census of India ? 

1. Maharashtra 2. Tamil Nadu 3. Uttar Pradesh 4. West Bengal 

Code: 
(1) 1,3,2 and 4 (2) 1,2,3 and 4 (3) 4,3,2 and 1 (4) 2, 1,3 and 4 

2011 cBT (,.FPI OI'11 cB" 3fjffR f.1k1f2;tftm ~ cBT ~ st ~ \l'1'1'{i'Lc<q1 cB" Wll "4 
~: 

(1) li61'1t1~ (2) t11~C'I'1I'§ (3) \n'R ~ (4) ~ ~ 

~: 

(1) 1,3,2 crm 4 (2) 1, 2, 3 crm 4 (3) 4, 3, 2 crm 1 (4) 2, 1,3 Cfm 4 

70. Horse latitudes are a band of how many degrees on either side of equator? 

(1) 10° (2) 5° 

(3) 15° (4) None of the above 

3Wf 3laTrn ~ ~ "4 GFTI 3lR ~ 3hlT cBT -qtf ~ ? 

(1) 10° (2) 5° 

(3) 15° (4) \3QgCR1 "4 xl cnW "'1tf 

71. Consider in which of the following places oil refinery is not located ? 

ll) Koya\i l2) Ha\ula l3) 'Pa\a\ganga \L\:) Ca\ku.\ 
f.1k1f2;tR5!t1 "4 xl fclR:r x~ "CR "ffi;f ~ CflI'It'<Sl 1'1 1 ~ ;:,-iff"S3lT ~ ? 

(1) Cf)llll<k'l (2) 6~1I1 (3) QIt1IC'14j411 (4) CflI<k'lCflc 

72. Tuticorin port is situated in which State? 

(1) Pudducherry (2) Tamil Nadu (3) Andhra Pradesh (4) Odisha 

1C11CflR'1 4G'lt 4116 fcnfl" ~ "4 ~ ~ ? 

(1) ~ (2) t11~C'I'1I'§ (3) 3lW m (4) ~ 

73. The international meet on climate change in the year 2011 was held in : 

(1) Beijing (2) Atlanta (3) Durban (4) Melbourne 

2011 "4 \l'1C'1ClI~ QRClct'1 "CR 3it1'1t~~1I '{iU!C'I'1 "S3lT m : 
(1) ~"4 (2) 3lcC'lici "4 (3) m"4 (4) 4C'1~l4"4 

( 15 ) P.T.O. 
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74. Which of the following State is the largest producer of Sugarcane in India? 
(1) Maharashtra (2) UttarPradesh 
(3) Punjab (4) Andhra Pradesh 
11ffif ~ Plk1~RsI(1 ~ ~ ~ ~ ~ l"F1T em ~ ~ \3(t1IGCf) ~ ? 
(1) '161'<1~ (2) "\3ffi ~ 
(3) ~ (4) ~~ 

75. As per 2011 population, which pair of States have sex ratio (female per 1000 
males) in excess of 1000 ? 
(1) Kerala & Pudducherry (2) Punjab and Uttar Pradesh 
(3) West Bengal and Haryana (4) Kerala & Gujarat 
2011 ~ "1"'1.1 0 1"'11 cf; ~ Plk1~RsI(1 ~ ~ ~-m ~ cf; ~ ~ ~ ~ 
('1ffic>ll~ >rR11000 ~) 1000 ~ ~ ~ ? . 
(1) ~ ~ ~ (2) ~ ~ "\3ffi ~ 
(3) ~ 6j1m;r ~ 6R~IOII (4) cffi;r ~ 1\i1'<1(1 

76. Which one of the following is true for Alfred Binet's theory of intelligence? 
(1) It is a two level theory (2) It is a two factor theory 
(3) It is a structural theory (4) None of the above 
~ ~ cf; ~ ~~I'i1 cf; ~ cmr ~ ~ ~ ? 
(1) m5 Gl "fRUIT em ~~I'i1 ~ (2) m5 Gl ~ em ~~I'i1 ~ 
(3) m5 ti,<'q"'1If+"1Cf) ~~I'i1 ~ (4) \3Qgcro ~ ~ ""1tf 

n. Which one of the following does not relate to social indentity of an individual? 
(1) He is a soldier (2) He is overweight 
(3) He is an adivasi (4) He is an Indian 
Plk1~RsI(1 ~ ~ ~ ~ ~ ~ '<Wll~Cf) ~ rnff ~ ? 

(1) CJ5 ~ ~ (2) CJ5 ~ ~ (3) CJ5 3l1~ql'<f1 ~ (4) CJ5 mmm ~ 
78. Who among the following developed 'Big Five Factors' of personality? 

(1) Paul Costa and Robert Mcrae (2) Gorden Allport 
(3) Raymon Callel (4) H. J. Eysenck 
Plk1~RsI(1 ~ ~ ~ &(Rfficq cf; '~ tffq CffiCP' em mm ~ ? 
(1) tfh;T ~ ~ ~ ~ (2) ~ ~c>l4~~ 
(3) m-~ (4) ~o ~o 3l1~~'if) 

79. Which one of the following is not an example of psychological stress? 
(1) Frustration (2) Conflict (3) Social pressure (4) Achievement 

( 16 ) 
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PI""1~Rs.d -q ~ "$A" ~ ~~~~~1IP1q; ~ffi6(C1 q;r ~ ;nff t ? 

(1) 3TmT 1frr (2) ~ (3) fll~lfGtq; G6f]'"q (4) \3qC1~ 

80. Which one of the following is not true for Gestalt therapy? 
(1) It depends upon individual's self awareness 
(2) It aims to increase self acceptence 
(3) It attempts to influence the soul of an individual 
(4) It allows one to enjoy fantasies 
PI""1~Rs.d -q ~ qm ~ ~h=elc;e ~ cfi ~ ~ ;nff t ? 
(1) ~ czrfcffi cCr 311 ("If~ d '"II l:R ~ cn«fi t 
(2) ~ 311~t41cpRi em ~ t 
(3) ~ czrfcffi qft ~ em wnfcm cn«fi t 
(4) ~ czrfcffi em ~ q;C'lI'"I1 q;r ~ AA ~ t 

81. Which one of the following gland is not located in the brain ? 
(1) Thalamus (2) Pineal (3) Pituitary (4) Thyroid 
PI ""1 ~ Rs. d -q ~ "$A" ~ ljf@:r C2tfcffi cfi ~ Ret tiP -q ~ ;nff mcfi t ? 
(1) ~ (2) ql~PllIC1 (3) fCI~~c{l (4) ~llI'1I~\S 

82. Rods and Cones in the human eye are found in : 

(1) Retina (2) Cornea (3) Iris (4) Lens 

~ cCr 3lroT -q 'm' q 'q;Fr cmff ~ \jffif ~ ? 

(1) ~ -q (2) q;1~£11 -q (3) ~ (~) -q (4) ~-q 

83. Which one of the following is not a stage of skill acquisition? 
(1) cognition (2) association (3) autonomous (4) random 
PI""1~Rs.d -q ~"$A" ~~ ~ m q;r"'tROT ;nfft? 
(1) fi$1I'"1It"1q; (2) fl~ill{l (3) ~ (4) lII1Rl9q; 

84. Milk tastes sour when kept in the open for sometime due to the formation of: 

(1) Carbonic Acid (2) Citric Acid 

(3) Lactic Acid (4) Malic Acid 

~ \JfiT ~ qldlq'1 01 -q ~ ~ XW "GfTdT t m ~ ~ -q ~ fctR1 ~ cfi ffi cf; 
q)RUJ ~ 6T vrrm t ? 
(1) q;1'161~Plq; ~ (2) fll~~q; ~ 

(3) ~fc):Cq;·~ (4) ~ ~ 

( 17 ) P.T.O. 
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85. Consider the following factors : 
(a) noise (b) crowding (c) flowing water 
Which of these will cause environmental stress? 
(1) all the three (2) (a) and (b) (3) (b) and (c) (4) only (a) 
PtI11~ftl(1 ~ tR fcfflR ~ : 
(a) WR (b) ~ (c) ~ l:fAT 
Pt 111 ~ ftl (1 1l ~ "$A" q lIf CI '< uYllI 1'1 Rt 61 C'1 * Cf)RCI) t ? 
(1) \3Q1cm ~ (2) ~ (a) q (b) (3) ~ (b) q (c) (4) ~ (a) 

86. Which one of the following is not a psychological concept? 
(1) fantasy (2) fear (3) fertility (4) hope 
PtI11~ftl(1 1l ~ "$A" ~ "F1~~$1IPtCf) ~ ~ ~ ? 
(1) ~ Cf)C'<'I'""l1 (2) ~ (3) 1'1\)'1'""1'1(11 (4) 3lmT 

87. Which one of the following disorders is not caused by genetic factors? 
(1) schizophrenia (2) mental retardation 
(3) mood disorder (4) malnutrition 
PtI11~ftl(1 1l ~ "$A" ~ ~ ~ ~ ~ ~ ~ ~ ~ ? 
(1) 3't"tl'<I6i1:T (2) ~1'1ff1Cf) ~ 
(3) ~IClG~11 ~ (4) cg4~ISIOI 

88. Which one of the following is not a value statement? 
(1) State is an abstract concept 
(2) State ought to increase welfare of citizens 
(3) State should enhance employment opportunities 
(4) State should promote peaceful coexistence 
PtI11 ~ ftl(1 1l ~ "$A" ~ ~ 3lJmfuf CJ)~ ~ ~ ? 
(1) ~ ~ '<1Cf)C'lI'11 ~ 
(2) ~ cnT '11 ~ I RCf7' CJ)T =Cf)=(i'\Q1TTITlTOI ~ ~ 

(3) ~ cnT '<~\J1~II'< 3lCffRT1l ~ ~ ~ 
(4) ~ cnT ~IiRt~uf ~ cnT ~ ~ 

89. Pavlov experiment was originally conducted on : 
(1) dog (2) rat (3) human being (4) horse 
Q ICI (>1~ CI wWr ~~ ~ tR fc»m 7lm ? 
(1) cgm (2) ~ (3) ~ (4) ~ 

90. In a lie detector test, inference about truth or untruth is drawn from: 
(1) body language (2) gestures of eyes 
(3) both (1) and (2) (4) neither (1) nor (2) 

( 18 ) 
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~ ~ ~lffUT cf; ~ m ~ cf; 6TR ~ ~ PtCf>I<:'11 \iffiTI t : 
(1) ~11~RCf> ~ ~ (2) 3TIW ~ 6<:'1il<:'1 ~ 
(3) GFIT (1) ~~ (2) ~ (4) ., m (1) 3iR ., 1ft (2) ~ 

91. The cultural practices and outlook of a community which sets it apart from 
others is called : 
(1) racism (2) ethnicity (3) identity (4) stereotyping 
~ '<1jGlll em ~ ~ 3WflT m ~ '<1i'<"<PffiCf> ~ ~~ 1O~Cf)101 em q;mf ~ : 

(1) "'I~qlG (2) ~ GII(1"illdl (3) ~ (4) f')R>ql~dl 

92. A system of stratification where positions are firmly achieved and mobility is 
common, is based on : 
(1) slavery (2) caste (3) class (4) status 
~ ~ ~. ~ ~ ~ ~ ~ ~ ~ 51 ~~ 4Iffi~~<:'1dl 1fr ~ 
\i'fRfi m. em 3mm 6Rrr t : 
(1) Gffiffi (2) ~ (3) q<f (4) ~ (~R=111d) 

93. The socially defined expectations that a person in a given status follows are 
called: 
(1) a pOSition (2) a role (3) a performance (4) an impression 
~ ~ "'(1l1TGf ~ ~ S'Z ~ cf; ~ "'(1l1TGf &m ~ l'lC'll1 ~113IT em 31 j'<1'! 01 
Clffiil t. m ~ q;mf ~ ? 
(1) ~ ~ (2) ~ ~ (3) Pt&lIG"'I (4) ~ 3W1ffi 

94. Which one of the following describes ties between individuals through 
marriage or blood ? 

(1) family (2) kinship (3) network (4) tribe 
ClIRffilll cf; ~ fcrcrrG m XcRf ~ cf; ~ ~ fffif -m ~. ~ ~ imT t : 
(1) ~ &m (2) '<14 11?1d I &m (3) ~ ~ (4) ~ (\il"'l\illffi) 

95. Seven people waiting silently at a bus stop waiting for a bus is an example of: 
(1) primary group (2) secondary group 
(3) an aggregate (4) social category 
6Rl ~ l:R m ~ 6Rl em ~d \ill'! CfR ~ x=rm ClI Rffi III cf; ~ em Cf)6T ~ : 
(1) ~ ~ (2) ffi(1"illCf> ~ 
(3) ~ '<1j'ttlll (4) ~ '<1141lfijfCf> ~ 

96. Suraj lives with his wife Surekha and three children. This unit is: 
(1) a family of orientation (2) an extended family 
(3) a communal family (4) a nucleous family 

( 19 ) P.T.c. 
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~ 3ltAT ~ ~ q ~ ~ ~ ~ X6m ~I ~ ern ~: 
(1)~~ (2)~~ 
(3) XiljGlfllcp ~ (4) ~ ~ 

97. Which one of the following is most important agent of socialization in early 
childhood? 
(1) the fami~ (2) a peer group (3) mass media (4) a teacher 
~~Iqlq~ ~ kj~Rsld ~ ~ ~ ~ XiI+iI\Jl"jcp,<01 qft "fT6ffi ~ ~ ~ ? 
(1) ~ (2) crt=re ~ (3) \11'1'<1ill'< ~ (4) ~ 

98. Who among the following coined the term Sociology? 
(1) Auguste Comte (2) Robert K. Merton 
(3) Karl Marx (4) Emile Durkheim 
Plkj~Rsld ~ ~ ~ Xil+il~cp fcMA "'111l ~ ? 
(1) ~ ~ (2) ~ ~o ~ 
(3) ~ l=fTCffi (4) ~P11~C1 ~ 

99. Emile Durkheim believed that primary focus of sociology should be : 
(1) social action (2) social facts 
(3) class relations (4) cultural dynamics 
~ ~ ~ ~ Xil+il~cp fcMA Cf>T ~ \JlR m ~ : 
(1) Xil+il~cp crn<f (2) Xil+il~cp Ci~ 
(3) CfTf ~ (4) '<ii"!"<pfficp TTT>lI*'af7*ICP==d:::rr1 

100. Which one of the following is not a basic feature of tribal society? 
(1) distinct language (2) distinct territory 
(3) social differentiation (4) segmentary 
PI kj ~ RsI d ~ ~ ~ ~ \11 '1 \111 ffI 'tilIT\i1" qft ~ fCl ~~ t:I d I ryiff ~ ? 
(1) ~ 1WIT (2) ~ ~ 
(3) Xillil~cp ~cflcp,<OI (4) fCl'<SlO'5'1 

101. Which one of the following is not the characteristics of capitalism? 
(1) private property (2) profit maximization 
(3) capital accumulation (4) creation of public wealth 
Plkj~Rsld ~ ~ ~ ~ q\#lqlG Cf>T ~ ryiff ~ ? 
(1) f.1\ifi ~ (2) ~ cnT ~ ~ 
(3) ~ ~ (4) Xil+il~cp ~ qft ~ 

102. Which one of the following is not a feature of peasant society? 
(1) use of family labour 
(2) complete isolation 
(3) family on a unit of production and consumption 
(4) dependence on nature 

(20 ) 



Plkjf(;jft!C1 If ~ cPA ~ ~ffl6'< ~ cCr fCl~l~C11 ~ ~ ? 
(1) qlRcllRCf) w:r Cfi1 wTrr 
(2) ~ 3lWTfCf 

(3) \3CGIG'1 q \3qlfl~1 cCr ~ Cfi1 3l1tI"R ~ 

(4) ~tR~ 

103. According to Max Weber Charisma inheres in : 
(1) innate qualities of a leader 
(2) recognition extended to leader by followers 
(3) as heir to a particular family 
(4) possession of wealth and income 
tfcR:J ~ ~ 31jmX ill""l('q)I~ WKf ~ mcfi ~ : 
(1 ) -.ffiT ~ \Jj Wi \Jj I ct lJuIT If 
(2) -.ffiT em 31jlll~~l· 6RT cfi ~ ~ q 3ITGX If 
(3) ~ fcMtf ~ ~ If 
(4) 3lmq~~~lf 

104. Which non-economic factor influences behaviour? 
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(1) politics (2) religion (3) culture (4) family relations 
PI kj f(;j ft! C1 TR~ ~ If cPA ell q g I '< em wrrfcm "Cf)XC1T ~ ? 
(1) '<1\Jj"1~Rl (2) ~ (3) ti«pRl (4) qlRqlRCf) ~ 

105. A pressure group is generally referred to as : 
(1) ethnic group (2) informal group 
(3) special interest group (4) caste group 
~ G"fij ~ em '{Wi I ~ C1: Cf)6T \JfTffi ~ : 

(1) ~ ~ (2) 31'1~qilIRCf) ~ 
(3) fcMtf ~ ~ (4) iJffffr ~ 

106. Age of B is two times that of A but half of F. Age of C is half of A but two times 
that of D. Which of the following pair has the maximum and minimum age? 
(1) F and A (2) F and D (3) F and B (4) F and C 

B cCr ~ A cCr ~ tR F cCr 3l1tft ~ I C cCr ~ A cCr 3l1tft tR D cCr ~ cCr ~ 
~ I (f6f Plkj f(;j ft!C1 ~ ~ fch*l c61 3m] ~ ~ q ~ Cf)l1 ~ ? 
(1) F~ A (2) F~D (3) F~B (4) FCf~C 

107. The simple interest on an amount after 6.25 years becomes 3/8 of the amount. 
What is the rate of interest? 

(1) 6 percent (2) 9 percent (3) 7 percent (4) 5 percent 
(21 ) P.T.O. 
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~ ~ m tR 6.25 Cfff cf> ~ ~ ~ cf> m~ ~ ~ m Cf>T 3/8 m 
\ilTffi t m ~ GX Cfm ~ ? 
(1) 6 1'IRI~ld (2) 9 1'IR1~ld (3) 71'1R1~1(j (4) 5 1'IR1~1(j 

108. Which one of the following is different from the others? 
PI kj f<;t R5I (j ~ xl ~ -qq> 3Rl" xl ~~ ~ ? 
(1) COUT (2) BIEN (3) KAIG (4) X T S V 

109. How many four letter words can be formed with the letters EANM when no 
letter is repeated? 
(1) two (2) three (3) four (4) one 
EANM "lam xl mx "lam "Cfffi" ~ ~ ~ \ill ~ ~ ~ ~ "la:R ctt 
9)"1'!I~Rl ., m ? 
(1) GT (2) cfA (3) mx (4) -qq> 

110. Point A is 7 meters to the west of B. Point B is 3 meters to the north of C. Point 
D is 4 meters to the west of C. Then if a person walks 3 meters to the north of D 
and reaches a point E; how much he should walk to reach point A and in which 
direction? 
(1) 3 meters to the north (2) 7 meters to the east 
(3) 10 meters to the west (4) 10 meters to the east 
~ A, ~ B xl 7 ~ ~ ~ ~ 3tR ~ B, ~ C xl 3 ~ 13m ~ ~ I ~ D, ~ 
C ~ 4 ~ ~ ~~I ~ ~ -qq> ~ 3 ~ Dxll3m ctt 31R ~ ~ E tR 
~ ~ m \ffi mIT xl ~ A tR ~ cf> ~ ~ ~ 3tR ~ ~ ~ ~ 
6171r? 
(1) 3 ~ qfup:r em (2) 7 ~ wr em 
(3) 10~ ~ em (4) 1O~ wr em 

111. Consider the following series of words arranged in a particular order: 
~ ~ ~ ~ "lam cf> ~ WI1 em ~: 

DLUAENIOGKSVRMPBHF 
In the above arrangement LU is related to EO in some way, and in the same 
way SV is related to MH, then NI will be related to: 
~ ~ ~ ~ LU Cf>T EO xl ~ cffiT ~ SV Cf>T MH ~ t m NI Cf>T ~ 
PI kj f<;t R5I (j ~ xl ~ mrrr : 
(1) G S (2) K V (3) G V (4) K R 

112. If, in the series of letters given in question 111, above, GLAD is written in code 
as SANU and in the same code, BUMP is written as FEBH, then the word SKID 
will be written as : 
\3Q1CR1 w-l 111 ctt "lam ctt ~ cf> ~ ~ ~ ~ GLAD em SANU C1~ 
BUMP em FEBH ~ ~ m \ffi'r ~ if SKID em ~ ~ : 
(1) GO E U (2) V SOU (3) V S G A (4) R V 0 U 

(22 ) 
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113. Which of the following is different from the others? 
(1) Bhairavi (2) Malkosh (3) Kedar (4) Kajari 
Ptklf{;tRs!d -q ~ ~ ~ 3Rr ~ ~ t ? 
(1) ~ (2) JiIC'1Cf)~~1 (3) ~ (4) ~ 

114. Who among the following got Dada Saheb Phalke Award of 2011 ? 
(1) K. Balchandran (2) D. Ramchandran 
(3) V. K. Murthi (4) Adoor Bal Krishnan 
2011 -q GTGT ~ ~ ~'N:q)I'< f4>x"lCf)~ fl1c;rr ? 
(1) ~o 611C'1't1~'1 (2) ~o '<11"J't1~'1 
(3) cfio ~o ~~ (4) ~ ~ ~ 

115. Which one of the following countries was not on the side of England and 
France during the Second World War? 
(1) USA (2) India (3) South Africa (4) Japan 
~ fc)~q~<& ~ x-r=n:r Ptklf{;tRs!d -q ~ ~ ~ ~J~O;S q >Pm ~ ~ "fiff ~ ? 
(1) ~ ~ ~ (2) 11ffif (3) ~ ~ (4) ~ 

116. Which one among the following is different from the others? 
(1) MOSSAD (2) CIA (3) RAW (4) CBI 
Ptklf{;tRs!d -q ~ ~ ~ 3Rr ~ ~ t ? 
(1) ~ (2) ~ ~ ~ (3) xr (4) ~ ~ ~ 

117. First Blight in Sugarcane is caused by the deficiency of which of the following 
plant nutrients? 
(1) phosphorus (2) manganese (3) nitrogen (4) ammonia 
TJ"f -q ~ ~ xFr fctR:r tfTGtf ~ qft ~ ~ q>R"UT mc=rr t ? 
(1) 4> I x:tf)', '<Xi (2) ~ll4)\l1 (3) '11~~"\l1'1 (4) 3l~',Ptlll 

118. The largest tiger sanctuary in India is located in which State? 
(1) Andhra Pradesh (2) Karnataka 
(3) Madhya Pradesh (4) Uttarakhand 
11ffif -q wrn ~ ~ ~ 3lTCfffi emIT ft~ t ? 
(1) 3lR:r ~ (2) Cf>'1kCf> (3) '"JUT ~ (4) \3f1'<I'<5I 0;S 

119. On which of the following places, a steel plant is not located? 
(1) Jamshedpur (2) Bokaro (3) Durgapur (4) Bellari 
Pt kl f{;t Rs! d -q ~ fctR:r ~ x~ tR ~ Cf> 1'<'<511 '11 "fiff x~ fcpm lTlIT ~ ? 
(1) \l11"J~~G~'< (2) ~ (3) ~ (4) ~C'C1I{) 

(23 ) P.T.O. 
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120. Which one of the following is not true for the Knowledge Commission? 
(1) It is a constitutional body 
(2) It is an advisory body 
(3) Sam Pitroda is its Chairman 
(4) It advises the Prime Minister of India 
~ wWr ~ ~ PtktfcqRsltl -q Cfm ~ ~ rnff t ? 
(1) ~ ~ ~ t (2) ~ 7[]"fi="C'11r.;:r;6Cf>~I~~ ~ t 
(3) ~~~~Iff~ (4) ~~cnT~~t 

SECTION -II 
LANGUAGE - ENGLISH 

(For Candidates Opting English Language) 

Directions (Q. No. 121-124): Select the word nearest in meaning to the given word: 

121. Applaud: 
(1) Condemn (2) Praise (3) Scold (4) Criticise 

122. Rival: 

(1) Partner (2) Friend (3) Associate (4) Opponent 

123. Reject: 
(1) Refuse (2) Allow (3) Accept (4) Agree 

124. Often: 
(1) Quickly (2) Never (3) Frequently (4) Always 

Directions (Q. No. 125-128): Select the word opposite in meaning to the given word: 

125. Abstain: 
(1) Permit (2) Refuse (3) Oppose (4) Runaway 

126. Implicit: 
(1) Plicit (2) Unimplicit (3) Inimplicit (4) Explicit 

127. Calm: 

(1) Cosy (2) Uncomfortable (3) Relaxed (4) Easy 

128. Virtue: 
(1) Smile (2) Wise (3) Vice (4) Strength 

Directions (Q. No. 129-132) : Select the word which can be substituted for the given group of 
words: 

129. One who sacrifices his life for a cause: 
(1) Soldier (2) Martyr (3) Revolutionary (4) Patriot 

(24 ) 
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130. One who eats everything: 
(1) Carnivorous (2) Herbivorous (3) Omnivorous (4) Omnipotent 

131. Speech delivered without preparation: 
(1) Straigh forward (2) Verbose 
(3) Extempore (4) Maiden 

132. A large room containing a number of beds: 
(1) Hostel (2) Dormitory (3) Dwelling (4) Boarding 

Directions (Q. No. 133-136): Select the word which has been wrongly spelt: 

133. (1) Jealous (2) Laborious (3) Mosquito (4) Neihbour 

134. (1) Mediocer (2) Luxurious (3) Oblique (4) Suspicious 

135. (1) Tedious (2) Harras (3) Leopard (4) Unique 

136. (1) Liberary (2) Question (3) Technique (4) Vacuum 

Directions (Q. No. 137-140) : Fill in the blanks with the correct word: 

137. Rome was not built in a .............. 
(1) minute (2) hour (3) week (4) day 

138. An apple a day keep the ............. away. 
(1) person (2) sickness (3) doctor (4) hospital 

139. :k ............. you to do well in the exam. 
(1) ~xped (2) accept (3) inspect (4) except 

140. That colour doesn't ............. her. 
(1) soot (2) suite (3) suit (4) shoot 

Directions (Q. No. 141-144) : Select the part of speech of the underlined word in the given 
sentences: 

141. His manners please me : 
(1) Adjective (2) Pronoun (3) Determiner (4) Conjunction 

142. You should give up smoking : 
(1) Noun (2) Present participle 
(3) Gerund (4) Verb 

143. If you work hard, you will succeed: 
(1) Adjective Clause (2) Adverb Clause 
(3) Main Clause (4) Noun Clause 

(25 ) P.T.O. 
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144. Please water the plants in the morning: 
(1) Noun (2) Verb (3) Adjective (4) Adverb 

Directions (Q. No. 145-147) : Select the correct form of the verb to complete the following 
sentences: 

145. As soon as I reached the station, the train ........... : 
(1) has already left (2) has left already 
(3) had already left (4) left already 

146. The teacher caught the student ........... : 

(1) cheat (2) cheated (3) cheating (4) to cheating 

147. You need not ........... about us: 
(1) toworry (2) worried (3) worries (4) worry 

Directions (Q. No. 148-150) : Fill in the blanks with the correct preposition: 

148. He acceded ............. my request: 
(1) for (2) in (3) to 

149. The river flows ............. the bridge: 
(1) below (2) under (3) across 

150. It is half past six ........ , .... my watch: 
(1) in (2) into (3) by 

SECTION -II 
~-II 

~-~ 
(~~qffi~c5~) 

(4) about 

(4) through 

(4) inside 

rfrtT w4T ~ ct 'EfT?- 'fIR ~Cf)f8q(j) i3'fW ~ 7fl1 ~ fG:r;:r# wtT i3'fW 77T5T f[C!i ~ I I3W wtT i3'fW 

qff~: 

151. ~ ~ cnT al?r t : 
(1) ~\J1q:q)"<9)"< (2) ~ (3) ~dI4~1<p (4) 11~ 

152. 4~ili11)1 ~ ctr ~ t : 
(1) ~ (2) ~ (3) ~ 

153. ~ ctr ~ "I1R1Cftl ~ g@r t : 
(1) U[ (2) ~ (3) 3{ (4) "( 

154. 'fffi=rc;fi' \34""'l11f1 ~ fW.m t ? 
(1) f.ffic;rr (2) \J1t1~i<f),,< ~ (3) ~&1i1-=G (4) ~ 

(26 ) 
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155. ~ cf> ~"fCR cf> \itiql,<OI 'B ~ ~ vmGT ~ t : 
(1) 3IT (2) 3ft (3) \3" (4) "G) 

156. ~ ~ cff ~ 3ljmcfi ~ ~ ~ ~ ~~ t ? 
(1) 343-351 (2) 345-353 (3) 347-355 (4) 351-359 

157. ~RtCJ)I61 ~ ~ cpfcrm ~ ~ q:m ~ ? 
(1) ~ (2) ~~ (3) mit (4) ~ 

158. 11 <iCfi G I fI ~ '+Ifcffl cmocr ~ ~ m'<T cff cnFct ~ ? 
(1) '<ll1CJ)IClI (2) pOOICJ)IClI (3) f.11ur (4) ~ cmocr 

159. 'JfTfr C!i5T rr 6IS ~ &fCPT cp§ rtf ~ I 
tf iPT ~ ~ *t. ~ rr rfto /I 
PcP ~. "'~? ~1C1'> . 
(1) ¥~ (2) ~ (3) ~ GR1 (4) ~ 

160. ~ ~ f.1cFRt NiJf ?SMT I 
~ "ffffFfT '"fld/til'? ~ ~ NT? 'JfT'<r, 'f[qi ~ II 
PcPflc6) qfCk'1\QI ~ ? 
(1) ~ (2) fJ\xGlfI (3) o1GGlfi (4) g61~:fI G Ifl 

161. ''3WC7[ vf/cFr 6Tll ! ~ zrdT %frfr 
3ifrm -# t Cf.ET JtT? Jiroit -# rrr4T f" 
FcH1 c6) qfCk'1 \QI ~ ? 
(1) \iPI"1I~ GR1 '<MICJ),<' (2) ~ mur ljt(f 
(3) ~\Q1'<111 mur ljt(f (4) ~ 1:fTQq) 

162. c? ~ ~ ?PfT'IT m 
"# rrrfcrq; sft?-eM f" 
PcPflc6) qfCk'1\QI ~ ? 
(1) 1ffi (2) >ffiTG (3) f.1xrc;rr (4) 1151~4) 

163. 'q;wft ~ qff' PcPfI c6) cpfcrm t ? 
(1) ~ (2) jfCk'1611tf (3) ~ (4)~~ 

164. g61~:fIGlfi ~ ~ ~ t : 
(1) qGlqci) (2)~ (3) CJ)~C1lq('1"1 (4) \iRl ~ 

165. \l1 \Q !i! i CJ) '< >ffiTG em \ifri1 cn6T s3TT ~ ? 
(1) 61(51'113'1 (2) trColT (3) ~ (4) cmfr 

166. '\3""fA q>gT m PcP~1 c6) ~ t ? 
(1) WfflG (2) ~ wIT ~ (3) m w:rcr (4) ~~ 

(27 ) P.T.O. 
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167. ~ em ~ \3q~I'<i 1WfT TflIT ~ : 
(1) l"llGFf (2) ~Iffi ~ (3) ~ 

168. '3l'cR~' Fch'<ic6) ~ ~ ? 
(1) ~ 6R~tiSi 
(3) \J1;Q~icp,< ~ 

(2)~~~ 
(4) fctUlj WWJR 

169. ~ mur ~ fcnfr ~ ~ '<ilrgfllcpl'< ~ ? 
(1) ~ ~ (2) ~ ~ (3) gl;QlqlG 

170. ~ ~ "fIllR em ~cpl~l"'I Cf>6T ~ §3ll" ? 
(1) C1{<j1"'1\3? (2) cpC1cp'tll (3) ql'<IOI"(1~ 

171. ~ em ~-~ ~: 
(1) ~ + ~ (2) ~ + ~ (3) ~ + ~ 

172. 'Ptflq"tl' em ~-~ ~ : 
(1) ~ +~ (2) ~: +~ (3) ~ +~ 

173. ~ ~ em ~ ~ : 
(1) 3l~lqiG (2) 31TT"dIir1"""jqt...iG 

174. ~ ~ em ~ ~ : 
(1) fg;QI'<id (2) g;QI'<id 

175. '~Rl~"'I' If fcnfr ~ qft ~ ~ ? 
(1) 6'6~ (2) ~~ 

176. '31 I'<iSi I "'I' em q;Qi;Qql'rfi ~ ~ : 
(1) 3Ifim (2) 3l6R 

177. ~ em ~ ~ ~ : 
(1) ~ (2) lfC1T 

178. ~ ~ ~ ""1' 3ml, ~ cmm ~ : 
(1) 3flR (2) 3l\iR 

179. '<i4"'1ISi em ~ ;uff ~ : 
(1) ~'Ql!lqlilcp (2) ~~"'Iqlilcp 

180. '1:fTOfr 1:fTOfr M ~ em 3T~ ~ : 

(1) ~ C1 fW1 tI m--=rr 
(3) ~ JIRl~~C1 m--=rr 

(28 ) 

(3) 311~iqIG. 

(3) ~ 

(3) ~ 

(3) ~ 

(4) ~C116161IG 

(4) ~ +~ 

(4) ~ +~ 

(4) t9ftRj 

(4) emf 

(4) ftror 

(4) ~ 



~~~ PtC{~1 

~ ~ cf> ~ 3lfCRUf-"T5 tR ~ \3'tR-"Q?f cf> m ~ tR ~ ;fJc;ft"1q;rc;fj EfTM-"CifTic qry x) -gr fc1&) 

1. ~ ~R<1C1?I ~ ~ 10 ~ ~ 3RX 1ft ~ ~ fcp !>l~"Iq?l +l ~ ~ 11~ % 3lR cnW 
~ WT -.=rnT % 1 ~R<1 Cl?1 Gl~~ -qn) \JfR 1R ~ ~ dfCb I C1 ClJal f¥T~ cpT ~ 

~ !>l~"Iq?l ~ ~ ~R<1C1?I >fTl<f "CfR" ~ 1 

2. -cRTaTI 11CI'i +l ~i.fj/i.fj/ wmr m:.Tl?f cff 31RttVCItf. fum GJT x-rrG1 cnW ~ ~ "CI?"J1T\Jf 

X1m +l ., c;mll 

3. ~-tf?f 3fC'flT xl ~ ll<IT % 1 ~ ry crt ~" 31k ry fft ~ ctR I c;;:mr i3"'fff-Tl?f ryfff 

~ GI/44J7 I cffcrc;r "i3TW-Tl?f cpr lft #j.6'lI{4':rt f7/RJr GI/4JJ11 

4. 3N'1T 31jRJl1itp ff~ i3"'fff-Tl?f cpr 1ff11fq; J1~ 3lTiffT1T- rpo w rt.=r "it ~ x~ 
1R~1 

5. i3"'fff-Tl?f cff J1$1pf rpo w rt.=r "it 8'fTFfT 81jwl1/"tp ~ V~ W ~ ffSW ;ft:rt ~ rnT 
qff ~ rR ~ I '\ififT -'\ififT 81/qf(qtp 1H Cflff ~-~Rfttp/ cpr 1ff11fq; ff€lT #c cpr rpw 

~~W~I 

6.311-0 ~o 3lRo tf?f 1R 3ljwJiiCl? ~. ~-~R<1C1?I ~ q xfc ~ (~ cnW m) TI~ 
~-~fffiCf)I 1R 3ljwJiiCf) ~ 3tR 311-0 ~o 3lRo tf?f ~ ~ !>lfc1~"""l1 +{ \3qRc'lI!5!"1 ~ 

~ -.=rnT %1 
7. \3QgCfd !>lfc1~"""l1 +l cnW ~ QRqcl"l ClJal f¥Ta1cP IDXT !>lJilfUld m ~ 3Rl~ <:r6 ~ 

~ ~ cpr W1l<r llT'1T ~ 1 

8. ~-~fffi Cf) I +l ~ ~ ~ 'qR ~ cpR;q Cf) ~ ~ <r<l ~ 1 Jlfl1q; ~ cff ~tpfiqtp i3"'fff cff 
~ ~ \1ffi"-Tl?f edt tluArcr rffcIu cff fIT"IFf ~ 7fl1 ro qff i3"'fff-Tl?f cff J1~ rpo W 

~ 7fl1 ~ cff ~ rt.=r "it ~ CfR"1T ~ I 

9. ~ ~ ~ ~ ~ ~ ~ ~ 1ft ern cpT <mn ~I ~ x1 ~ C[ffi cpT <mn ~ 
1R 3T~ ~ ern cpT ~ ~ 1R ern ~ ~ llT'1T ~ 1 

1 o. ~ ~ f1I; ~ "iIR ~ liRT atfcI;rr i3"'fff 'lfCRi1T ryfff iifT WCIfflT ~ I ~ 3TTtr. fclR:fi w-=r 
cpr i3"'fff ryfff ~ ~ f, m ~ Lffcm ~ w:R ~ <r<l ~ C[ffi cpT ~ ~ ~ 1 

~m1R~3fq;~~1 

11. Xtf) cnm ~ ~ ~ ~R<1Cf)I ~ ~1!5!~~ ~ ~ CfTffi "TO TI~ ~ ~ "TO cpr 

wWr~1 

12. ~aTI ~ \3Q;;:lifI cffcrc;r 81to ~o :mvo i3"'fff-Tl?f 1ft -cRTaTI ~ +l \Jl11T ~ 1 

13. -cRTaTI "fI11Tl(f 6f.l xl ~ -cRTaTI 11CI'i xl 6fTIR \JfR ~ ~ -.=rnT 5l<fi 1 

14. ~ cnW 3M~ -cRTaTI +l ~ ~ cpr wWr "CfR"ill t. m ern fc1~qfc1ulC1l1 IDXT ~ 

~ cpr /~ 1Wfi m-m / 5l<fi 1 


	COVER-1 copy
	IMG_0002 copy
	IMG_0003 copy
	IMG_0004 copy
	IMG_0005 copy
	IMG_0006 copy
	IMG_0007 copy
	IMG_0008 copy
	IMG_0009 copy
	IMG_0010 copy
	IMG_0011 copy
	IMG_0012 copy
	IMG_0013 copy
	IMG_0014 copy
	IMG_0015 copy
	IMG_0016 copy
	IMG_0017 copy
	IMG_0018 copy
	IMG_0019 copy
	IMG_0020 copy
	IMG_0021 copy
	IMG_0022 copy
	IMG_0023 copy
	IMG_0024 copy
	IMG_0025 copy
	IMG_0026 copy
	IMG_0027 copy
	IMG_0028 copy
	IMG_0029 copy
	COVER-4 copy
	Answer Sheet copy



